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Question 3 
 
7 points (1 + 2 + 2 + 2)  
 
(a) 1 point: 

• One point is earned for calculating today’s GDP = ($6 x 400) + ($2 x 1,000) + ($2 x 800) = $6,000. 
 
(b) 2 points: 

• One point is earned for stating that the inflation rate is 50 percent [(150-100)/100]. 
• One point is earned for calculating this year’s real GDP = $6,000/1.5 = $4,000. 

 
(c) 2 points: 

• One point is earned for stating that real wages would fall. 
• One point is earned for the explanation that the wages rose by only 20 percent as compared to the 

inflation rate of 50 percent, causing a 30 percent fall in real wages. 
 
(d) 2 points: 

• One point is earned for concluding that a borrower would be better off. 
• One point is earned for the explanation that, due to the higher inflation, the borrower is paying 

back the loan using fewer real dollars. 
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Question 3 
 
Sample: 3A 
Score: 7 
 
The student earned all points in this question. 
 
Sample: 3B 
Score: 4 
 
The student earned the point in part (a). In part (b) the student earned 1 point for calculating the inflation rate 
correctly; however, 1 point was not earned because the real GDP result is incorrect. Both points in part (c) 
were earned. Neither point was earned in part (d) because the student states that the borrower will be worse 
off. 
 
Sample: 3C 
Score: 1 
 
The student earned the point in part (a). The student did not earn the points in part (b) because the 
inflation rate and real GDP are incorrect. The points in part (c) were not earned because the student 
implies that the real wages do not change. Neither point was earned in part (d) because the student states 
that the borrower will be worse off. 
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